Inchange Semiconductor

Product Specification

Silicon NPN Power Transistors

2SD1229

DESCRIPTION

« With TO-3PN package

« Complement to type 2SB912

+ High DC current gain

« High current capacity and wide ASO
» Low saturation voltage

APPLICATIONS
» Motor drivers, printer hammer drivers,
relay drivers,voltage regulator control.

PINNING
PIN DESCRIPTION
1 Base
> CoIIecFor;connected to
mounting base
3 Emitter

Absolute maximum ratings (Ta=257T)
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Fig.1 simplified outline (TO-3PN) and symbol

SYMBOL PARAMETER CONDITIONS MAX UNIT
Veeo Collector-base voltage Open emitter 70 \Y,
Vceo Collector-emitter voltage Open base 60 \%
Vego Emitter-base voltage Open collector 6 \%

Ic Collector current 10 A

lem Collector current-peak 15 A
Tc=25C 60

Pc Collector power dissipation w
Ta=25C 25

T; Junction temperature 150 T

Tstg Storage temperature -55~150 C




Inchange Semiconductor

Product Specification

Silicon NPN Power Transistors 25D1229
CHARACTERISTICS
Tj=25C unless otherwise specified
SYMBOL PARAMETER CONDITIONS MIN TYP. MAX | UNIT
Vericeo | Collector-emitter breakdown voltage | Ic=50mA ;Rge=° 60 \Y
V@riceo | Collector-base breakdown voltage Ic=5mA ;=0 70 \Y,
VcEsat Collector-emitter saturation voltage Ic=5A ;Iz=10mA 1.5 \Y
VBEsat Base-emitter saturation voltage Ic=5A;ls=10mA 2.0 \%
lceo Collector cut-off current Vce=40V; |[e=0 0.1 mA
leso Emitter cut-off current Veg=5V; Ic=0 3.0 mA
hre DC current gain Ic=5A; Vce=2V 2000
fr Transition frequency 1c=5A; Vce=5V 20 MHz
Switching times
ton Turn-on time 0.6 us
tstg Storage time |\?;5=02053/1E-5=04?(|232=5A 3.0 us
te Fall time 1.8 us
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PACKAGE OUTLINE
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Fig.2 outline dimensions
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